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 EMBED Equation.3  [image: image10.wmf]3

(g)  
[image: image11.wmf]«

 N
[image: image12.wmf]2

(g)    +    3 H
[image: image13.wmf]2

 (g)  +    heat

      
[image: image14.wmf][

]

011

.

0

               
[image: image15.wmf][

]

224

.

0

        
[image: image16.wmf][

]

263

.

0


c)  2 H
[image: image17.wmf]2

(g)    +    S
[image: image18.wmf]2

 (g)   +    heat    
[image: image19.wmf]«

   2 H
[image: image20.wmf]2

S (g)

    
[image: image21.wmf][

]

62

.

0

              
[image: image22.wmf][

]

234

.

0

                          
[image: image23.wmf][

]

0235

.

0


2.)  For all three of the equilibria in problem #1 predict    (1) how Ke is affected by an increase in temperature,  (2) predict how the equilibrium will shift when pressure is decreased,  (3) predict how the equilibrium will shift when the concentration of the underlined substance is increased, and  (4)  predict how the equilibrium will shift when the temperature is decreased. 
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